1/0 do/dA

Ratio to ALEPH

0.5

206 GeV ee

y*/Z (Hadronic)

=

m ALEPH -

—a4— Pythia 8.301 defau

Pythia 8.301 hoeth

----- A Pythia 8.301 jetset
---G-- Pythia 8.301 montull

——— Pythia 8.301 tune-cmw

[TTTT]TTTT] IIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|
L bl IIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIII—I|_

P U T T T S
E g _
[0 X _
l L L L L l L L L L L L L l
0 0.1 0.2 0.3

Rivet 3.1.0, = 7.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


